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Note the readings on the scales. Burl
the painter has a weight of 600 N. and
carries a 100-N bucket of paint. What
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Physics [ - Elevators and Apparent Weight
Actual Weight = F = mq ( ﬂ (aAV) +'j F;T(.C>

e TFy = normal force
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What happens of the elevator cord is cut? 'l
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Ex) If a 55 kg person in an elevator accelerates downwards at Nhat

fraction of their original weight do they seem to have? %0\.'\.' i\j\L
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Ex) If a rope can wuhstand 200 N of tension before breaking, how quickly can you
lift (accelerate) a 10 kg box before the rope breaks?
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